

GWINNETT COUNTY DEPARTMENT OF FINANCIAL SERVICES PURCHASING DIVISION

75 Langley Drive | Lawrenceville, GA 30046-6935 O: 770.822.8720 | F: 770.822.8735 GwinnettCounty.com

March 7, 2023

AWARD NOTICE BL020-23 Resurfacing of Residential County Roads on a Term Contract

Pursuant to the bids received on March 7, 2023 for BL020-23, Resurfacing of Residential County Roads on a Term Contract, the bid has been awarded to E.R. Snell Contractor, Inc. and Magnum Paving, LLC in the amount of \$39,732,274.75. Please note the enclosed bid tabulation.

We appreciate your bid and interest in Gwinnett County.

Sincerely,

Sordvett

Lindsey Gravitt Purchasing Associate II

LG/km

Enclosure

District 1			E.R. Snell Contractor, Inc. (L)		Sunbelt Asphalt Surfaces, Inc. (OC)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	17,500 Ton	\$171.60	\$3,003,000.00	\$210.00	\$3,675,000.00
	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Ton	\$171.60	\$17,160.00	\$210.00	\$21,000.00
	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Ton	\$174.30	\$17,430.00	\$245.00	\$24,500.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	1,000 Ton	\$164.00	\$164,000.00	\$205.00	\$205,000.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	5,000 Ton	\$378.00	\$1,890,000.00	\$310.00	\$1,550,000.00
n n	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	2,500 Ton	\$171.60	\$429,000.00	\$215.00	\$537,500.00
7	Manhole Adjustment	490 Each	\$1,170.00	\$573,300.00	\$2,000.00	\$980,000.00
8	Water Valve Adjustment	10 Each	\$655.00	\$6,550.00	\$1,750.00	\$17,500.00
9	Asphalt Underlying Fabric	1,000 Sq.yds.	\$9.50	\$9,500.00	\$6.45	\$6,450.00
10	Mill Asphaltic Conc. Pavement - variable depth	96,000 Sq.yds.	\$6.75	\$648,000.00	\$7.40	\$710,400.00
11	Asphaltic Rubber Crack Fill	21 Mile	\$9,610.00	\$201,810.00	\$9,200.00	\$193,200.00
1.2	9.5mm OGFC (Class B Stone) including Bituminous Material and Tack Coat	1,000 Ton	\$205.00	\$205,000.00	\$325.00	\$325,000.00
Total		\$7,164	,750.00	\$8,245	i,550.00	

District 2		E.R. Snell Contractor, Inc. (L)		Magnum Paving, LLC (OC)		Stewart Bros., Inc. (L)		
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asph. Conc including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	15,400 Ton	\$160.00	\$2,464,000.00	\$169.35	\$2,607,990.00	\$207.65	\$3,197,810.00
2	9.5mm Recycled Asph. Concincluding Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Ton	\$160.00	\$16,000.00	\$173.06	\$17,306.00	\$207.65	\$20,765.00
3	4.75mm Recycled Asph. Concincluding Bituminous Material and Tack Coat	100 Ton	\$170.00	\$17,000.00	\$177.63	\$17,763.00	\$219.42	\$21,942.00
4	19mm Recycled Asph. Concincluding Bituminous Material and Tack Coat	1,000 Ton	\$154.00	\$154,000.00	\$177.63	\$177,630.00	\$204.55	\$204,550.00
5	12.5mm Recycled Asph. Conc. Patching - including Bituminous Material and Tack Coat	4,000 Ton	\$383.00	\$1,532,000.00	\$326.17	\$1,304,680.00	\$315.50	\$1,262,000.00
6	Recycled Asph. Conc. Leveling-including Bituminous Material, Lime and Tack Coat	2,300 Ton	\$167.00	\$384,100.00	\$173.06	\$398,038.00	\$219.42	\$504,666.00
7	Manhole Adjustment	265 Each	\$1,200.00	\$318,000.00	\$1,674.75	\$443,808.75	\$1,950.00	\$516,750.00
8	Water Valve Adjustment	20 Each	\$670.00	\$13,400.00	\$1,674.75	\$33,495.00	\$1,450.00	\$29,000.00
9	Asphalt Underlying Fabric	1,000 Sq.yds.	\$9.80	\$9,800.00	\$10.15	\$10,150.00	\$13.51	\$13,510.00
10	Mill Asphaltic Conc. Pavement - variable depth	92,000 Sq.yds.	\$8.60	\$791,200.00	\$8.67	\$797,640.00	\$7.15	\$657,800.00
11	Asphaltic Rubber Crack Fill	20 Mile	\$10,200.00	\$204,000.00	\$10,150.00	\$203,000.00	\$9,500.00	\$190,000.00
12	9.5mm OGFC (Class B Stone) including Bituminous Material and Tack Coat	1,000 Ton	\$194.00	\$194,000.00	\$197.93	\$197,930.00	\$230.73	\$230,730.00
		Total	\$6,097	,500.00	\$6,209	,430.75	\$6,849	,523.00

	District 3	E.R. Snell Contractor, Inc. (L)		
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	15,800 Ton	\$164.30	\$2,595,940.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Ton	\$164.30	\$16,430.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Ton	\$170.00	\$17,000.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	1,000 Ton	\$158.00	\$158,000.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	4,300 Ton	\$418.55	\$1,799,765.00
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	2,500 Ton	\$170.00	\$425,000.00
7	Manhole Adjustment	310 Each	\$1,068.00	\$331,080.00
8	Water Valve Adjustment	10 Each	\$598.00	\$5,980.00
9	Asphalt Underlying Fabric	1,000 Sq.yds.	\$8.85	\$8,850.00
10	Mill Asphaltic Conc. Pavement - variable depth	95,000 Sq.yds.	\$8.35	\$793,250.00
11	Asphaltic Rubber Crack Fill	19 Mile	\$7,040.00	\$133,760.00
12	9.5mm OGFC (Class B Stone) including Bituminous Material and Tack Coat	1,000 Ton	\$214.15	\$214,150.00
		Total	\$6,499	,205.00

District 4			E.R. Snell Contractor, Inc. (L)		Sunbelt Asphalt Surfaces, Inc. (OC)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	17,300 Ton	\$183.00	\$3,165,900.00	\$225.00	\$3,892,500.00
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Ton	\$183.00	\$18,300.00	\$225.00	\$22,500.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Ton	\$185.00	\$18,500.00	\$260.00	\$26,000.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	1,000 Ton	\$170.00	\$170,000.00	\$220.00	\$220,000.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	4,400 Ton	\$395.00	\$1,738,000.00	\$330.00	\$1,452,000.00
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	2,500 Ton	\$183.00	\$457,500.00	\$230.00	\$575,000.00
7	Manhole Adjustment	250 Each	\$1,200.00	\$300,000.00	\$2,000.00	\$500,000.00
8	Water Valve Adjustment	10 Each	\$690.00	\$6,900.00	\$1,750.00	\$17,500.00
9	Asphalt Underlying Fabric	1,000 Sq.yds.	\$8.00	\$8,000.00	\$7.00	\$7,000.00
10	Mill Asphaltic Conc. Pavement - variable depth	102,000 Sq.yds.	\$6.10	\$622,200.00	\$8.00	\$816,000.00
11	Asphaltic Rubber Crack Fill	21 Mile	\$8,920.00	\$187,320.00	\$9,200.00	\$193,200.00
12	9.5mm OGFC (Class B Stone) including Bituminous Material and Tack Coat	1,000 Ton	\$202.00	\$202,000.00	\$345.00	\$345,000.00
	Total			,620.00	\$8,066	,700.00

District 5				ontractor, Inc. L)	Stewart Bros., Inc. (L)	
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	17,000 Ton	\$158.00	\$2,686,000.00	\$192.75	\$3,276,750.00
	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Ton	\$158.00	\$15,800.00	\$192.75	\$19,275.00
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Ton	\$163.05	\$16,305.00	\$209.70	\$20,970.00
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	1,000 Ton	\$157.00	\$157,000.00	\$205.81	\$205,810.00
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	4,500 Ton	\$418.55	\$1,883,475.00	\$317.52	\$1,428,840.00
n	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	2,500 Ton	\$161.00	\$402,500.00	\$209.70	\$524,250.00
7	Manhole Adjustment	110 Each	\$1,070.00	\$117,700.00	\$1,950.00	\$214,500.00
8	Water Valve Adjustment	10 Each	\$600.00	\$6,000.00	\$1,450.00	\$14,500.00
9	Asphalt Underlying Fabric	1,000 Sq.yds.	\$8.35	\$8,350.00	\$13.51	\$13,510.00
10	Mill Asphaltic Conc. Pavement - variable depth	98,000 Sq.yds.	\$8.35	\$818,300.00	\$7.15	\$700,700.00
11	Asphaltic Rubber Crack Fill	20 Mile	\$7,215.00	\$144,300.00	\$9,500.00	\$190,000.00
1.7	9.5mm OGFC (Class B Stone) including Bituminous Material and Tack Coat	1,000 Ton	\$214.15	\$214,150.00	\$221.05	\$221,050.00
	Total		\$6,469	,880.00	\$6,830	,155.00

District 6			E.R. Snell Contractor, Inc. (L)		Magnum Paving, LLC (OC)		
ITEM #	DESCRIPTION	APPROX. QTY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
1	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, GP 1)	16,800 Ton	\$174.60	\$2,933,280.00	\$178.47	\$2,998,296.00	
2	9.5mm Recycled Asphalt Concrete including Bituminous Material, Lime and Tack Coat (SP Type I, BL1)	100 Ton	\$174.60	\$17,460.00	\$182.70	\$18,270.00	
3	4.75mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	100 Ton	\$184.60	\$18,460.00	\$187.78	\$18,778.00	
4	19mm Recycled Asphalt Concrete including Bituminous Material and Tack Coat	1,000 Ton	\$166.60	\$166,600.00	\$172.55	\$172,550.00	
5	12.5mm Recycled Asphalt Concrete Patching including Bituminous Material and Tack Coat	4,600 Ton	\$393.90	\$1,811,940.00	\$315.07	\$1,449,322.00	
6	Recycled Asphalt Concrete Leveling including Bituminous Material, Lime and Tack Coat	3,000 Ton	\$174.60	\$523,800.00	\$177.63	\$532,890.00	
7	Manhole Adjustment	75 Each	\$1,185.00	\$88,875.00	\$1,674.75	\$125,606.25	
8	Water Valve Adjustment	10 Each	\$665.00	\$6,650.00	\$1,674.75	\$16,747.50	
9	Asphalt Underlying Fabric	1,000 Sq.yds.	\$8.80	\$8,800.00	\$10.15	\$10,150.00	
10	Mill Asphaltic Conc. Pavement - variable depth	97,000 Sq.yds.	\$7.20	\$698,400.00	\$8.79	\$852,630.00	
11	Asphaltic Rubber Crack Fill	20 Mile	\$8,475.00	\$169,500.00	\$11,165.00	\$223,300.00	
12	9.5mm OGFC (Class B Stone) including Bituminous Material and Tack Coat	1,000 Ton	\$200.00	\$200,000.00	\$187.78	\$187,780.00	
		Total	\$6,643	,765.00	\$6,606,319.75		

Recommended Vendors:

Districts 1, 2, 3, 4 & 5 E.R. Snell Contractor, Inc. Attn: Nick Murphy 1785 Oak Road Snellville, GA 30078 Phone: 770-985-0600 nmurphy@ersnell.com

District 6

Magnum Paving, LLC Attn: Tyler Dickinson 125 Baker Industrial Court Villa Rica, GA 30180 Phone: 404-754-6326 tyler@magnumpavingga.com